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APM-01 : INTEGRATED PEST MANAGEMENT

Time : 3 hours . Maximum Marks : 100

Note: Question | no. 1 is compulsdry. Attempt any
eight questions from questions no. 2 to 10.

1. (a) Differentiate between the following pairs of
terms : - 5x2=10

(i)  Economic Injury Level (EIL) and
Economic Threshold Level (ETL)

(i) Ecosystem and Biome
(iii)  Serious pest and Minor pest
(iv)  Parasitoid and Predator

(v)  Physical control and Mechanical
control
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4.

(b) Define the following terms : 5x1=5

(i) Metamorphosis

(ii)  Integrated Pest Management (IPM)
(iii) Chronic Toxicity

(iv)  Precision Farming

(v) Semiochemicals

(c) Expand the following abbreviations : 5x1=5
(D) GMO
(i) Bt
(iii) GEP
(iv) SIRM
(v HPR

Describe damage symptoms of any two pests of

sugarcane. Also describe their control measures.

What is an IPM module ? Explain IPM modules

for rice and mustard.

(a) Explain the different levels of IPM.

(b) Why is adoption of IPM low ?
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5. (a) What is behavioural control in IPM ?
Discuss applications of repellents in pest

management. ' 5

(b) What is biological control ? Discuss any two

limitations of biological control. .8

6. (a) What is host-plant resistance ? Explain its

various mechanisms. 5

(b) What is a simulation model ? Explain its

various types. 5

7. (a) What is IFTK ? Explain any two indigenous

pest control practices. 5

(b) Define sterile insect technique. Explain
essential components for its successful

utilization in pest suppression. 5

8. (a) Discuss key aspects of IPM programmes. 5
(b) What is Farmer Field School (FFS) ? Discuss

its main features. 5

9. (a) Whatisa plant health clinic ? Discuss its
major thrust areas. 5

(b) What is pesticide resistance ? How can it be

managed ? : 5
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10. Write short notes on any éwo of the following
(a) Bt Cotton
(b) Exotic Pests

(c) Pest Forecasting
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